Calcular Porcientos (E)

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 1.105 € es
221 €7

- ¢(Qué porciento de 7.671 € es
5.114 €7

. ¢Qué porciento de 4.014 € es
2.007 €7

- ¢Qué porciento de 5.170 € es
517 €7

. ¢Qué porciento de 6.168 € es
4,626 €7

10.

;Qué porciento de 7.160 € es
1.074 €?

;Qué porciento de 8.310 € es
5.540 €?

;Qué porciento de 6.420 € es
963 €7

;Qué porciento de 5.277 € es
1.759 €7

;Qué porciento de 192 € es 48
€7
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Calcular Porcientos (E) Respuestas

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 1.105 € es
221 €7
20%

- ¢(Qué porciento de 7.671 € es
5.114 €7
66%5%

. ¢Qué porciento de 4.014 € es
2.007 €7
50%

- ¢Qué porciento de 5.170 € es
517 €7
10%

. ¢Qué porciento de 6.168 € es
4,626 €7
75%

10.

;Qué porciento de 7.160 € es
1.074 €?
15%

;Qué porciento de 8.310 € es
5.540 €?
66%5%

;Qué porciento de 6.420 € es
963 €7?
15%

;Qué porciento de 5.277 € es
1.759 €7
33%3%

;Qué porciento de 192 € es 48
€7
25%
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